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1|12 |11z |2rh|2|2L[21I2|3AM |3 [3L |3 |H|[HC|BHL|ESE
FRE XH15 FREHamhRREHKS12-6 50 200 200 50 200 200 200 200 200 50 50 1,600
& @ 2%i5 BB RETIEEERTFS12697 50 100 100 100 100 100 100 100 25 50 825
it | £ 8 2%5 FRE LHm =Y Ef45-4 50 100 100 100 100 100 100 100 20 50 820
& & 285 HRRkET/\1E2075-1 50 50 50 50 50 50 50 350
FRIXEHNRE RESHKIS FREHBTER L HRETS-13-7 120 120 240
# b 2 a &t 0 150 0 570 570 50 450 450 450 450 450 0 95 150 | 3,835
i RBR A%5 RERREMAMA-35-2 100 50 50 50 50 50 50 50 50 50 50 50 650
+t B 5%5 REHR EAMAFEEFIRAHECS 40 40 40 50 50 50 30 30 330
K S%5 RERWATFEHR2-4-1 100 50 50 50 50 50 50 50 50 50 50 50 650
# B %5 EHEFIRiHR5075-1 30 30 30 40 40 40 30 40 50 330
RALE HES IS REERBMEFNMAI-35-2 50 50 50 150
. hEIE HESEIS REENMATTEHR2-4-1 50 50 50 150
& % 2 & &t 0 200 0 170 170 170 100 290 290 290 100 160 170 150 | 2,260
A e IR ILFHER E524-2 50 100 100 50 40 100 50 100 40 40 40 50 760
2 1] 2 & &t 0 50 0 100 100 50 40 100 50 100 40 40 40 50 760
BEe A58 AIIEELRMEIRITH2E 40 80 20 20 20 80 20 20 20 20 20 20 380
A n 2 & &t 0 40 0 80 20 20 20 80 20 20 20 20 20 20 380
it [ i i & &t 0 440 0 920 860 290 610 920 810 860 610 220 325 30| 7,235
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